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The figures in the margin indicate full marks
Jor the questions

Answer either'in English or in Assamese
1. Answer any ten of the following as directed :

‘ : 1x10=10
were AT R e webr R IpiR e 3 -

.. (a) What is meant by below poverty line?
7 wReer iz R @ 2

(b) Define democracy.
SITOF A e |

(c) Define the term ‘per capita income’.

R SR e o
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(2)

(d) What is meant by income inequality?

R SRl 3ferca 7 38 2

(e) Define incremental capital-output ratio
in the context of Harrod-Domar model.

CRE-TIRY WY YRS o TEeH-TeemH
SeTeR i@ faa |

() What is the golden rule in Solow model?
- PR SIS T A &2

(g) Write one characteristic of the poor.

7RE b1 (B for |

(h) What is meant by technical progress?
ErEere Tafs o o @i

(i) Define natural growth rate.
woRe Rerr 293 ke fan |

() What is social institution?

e el R @ 2

(k) Mention two alternative measures of
development.

Trwa o1 R S Toay 411
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(3)

What is meant by absolute poverty?

o wivgel 3o R @ e

What is meant by endogenous growth?

e R e & @2

Define a political institution.

B! AT SPST <A i |

Mention a measure of growth to study
international variation.

Rerr SRty RS " I3 ITTT T
51 3¢ SrEy F41

What is meant by vicious circle of
poverty?
wREeR v o R @2

What is the HDI rank of India in UNDP
Human Development Report, 2021-22?

UNDP 3 Y79 & aifScqws, 2021-227 WS
SRSy ¥R oM TEge Ppe (HDII ¥H
R 2

What is steady state in Solow model?
bR e e wwe 2
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(4)

2. Answer any five questions very briefly : 2x5=10
R e “iebt e =S 59 Ty fiewn

(a) What is meant by knife-edge
equilibrium?

P-4 ST o & o2

(b) Define Gini coefficient.
AR sTza e fin o

(c) Mention two differences between growth
. and development.

Rert oIF TR TToE Y01 A4 Beary I

(d) Give two reasons of relative poverty.

et wwerR B PR

(¢) Mention two non-economic factors
which determine economic develop-

ment.
T-aAee e Twmy w0 Ra
weftafes Trmm fAfRe R |
() Write two features of modern economic
growth. i
e ST R o1 It forar
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(5)

(99 Mention two differences between Harrod
and Domar model of growth.

T© I TR R wifRe =1 B ondm
e

(h) Write two assumptions of Solow’s model
of long-run growth.

5o T Rt wnf¥e 7o1 wfSaren forar |

() Give two examples of government
failure.

Rl Reerer 151 Segd faa |
() What is meant by ‘disinvestment?

fARFcns 3= R @ e

3. Answer any four of the following questions :
5x4=20

T PR R e BiRGR e fors

(@) Discuss any three problems of
measuring economic development.

iAo Tme T R @ fRG em
HCATGAT F7 |

(b) Briefly discuss  the factors which
influence economic development of an
underdeveloped country. |

9 IS (PR SAS Tme aeR ReN
N TAMITR DYLF ST 37 |
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(6)

(c) Write a note on inequality axioms.

ORI S4TS Go1 G ot |

(d) Justify per capita income as an index of
economic development. ‘

G TwT P R TR SRS TRl
T 4 |

(e) Discuss the concept of economic
inequality.
GRS SR YRATCH! ST 41 |

(0 Discuss the need for balanced regional
development in case of underdeveloped

countries.
TS 7 (RIS W e SEE
STATEARTS! AT F#47 |

() Write a short note on rural-urban
economic gap.

AW WE T SARE FFT @RS b1 5
GOt fora o

(h) Explain how democracy and economic
growth are interlinked.

slreg O ST R e wReReAIfer,
00 30
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(7)

4. Answer any four of the following questions :
10x4=40

ST 2P R e wifRoR Ses fan

(a) Explain the various alternative
measures of economic development.

e Tae RiSH Res MoPIR T 3401

(b) Discuss the international variations in
per capita income (PCI) and human
development index (HDI) measures.

SR OE WF T SR PRE TR wR{Ece
RSB ST A F1

() Compare development trajectories
across nations and within them.

T VoS W I oTo TR oURIE
ol 34 |

(d) Explain the construction of the Human
Development Index. '

T SR I AW WM T4

(e) Discuss the conditions of steady growth
in the context of Solow model.

v WY Ee fufle RerA TETR
AT 39 |

() Explain endogeneous growth theory.
e Rt o I ¥4 |
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(8)

(g) Discuss the main features of '
Harrod-Domar model of growth.

@o-TIRE Rerd w¥GR 3@ . ARERTR
o] 4 |

(h) Explain the technique of Lorenz curve to
measure inequality.

TIPSl TR @ I9T0 A'_E @R @FrE
BIIESIN

(i) Explain the role of State institutions in
economic development.

A PP (R AR TaTe gRI
STECR SCo |

() Discuss, in’detail, the consequences of
corruption in the economy.

g GRfee AR AR e
4 F9 |
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